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Show the formula and solve the following problems.
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1) Carbon dioxide (COy) concentrfations in the atmosphere increased from approximately 280 parts

per n&illion (ppm) in pre-industrial times to 382 ppm in 2006. What is the percent increase in carbon
dioxide? , '
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2) The water level in the Lake Pohtcharlrain is usually 3 feel. A storm surge caused by a hurricane
causes water to surge by 5 3/4 feel. What is the percent increase of the_ water level?
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Glacier National Park had 150 glaciers more than a century ago. Today there are 35. What is the
percent decrease in glaclers? : ‘

Now do the problems'on the back......
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56 25%
6 50%
5 20%
8 75% 14
10 90%
30 70%
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21 100%
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50 | 30%
18 | 50%
25 4%
60 35%
40 15%
64 75% 16
40 45%
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Original % New
Amount increase Amount
32 56
24 | 25% 30
15 18
30 33
150 153
120 126
- 200 202
20 50
Original % New
Amount decrease Amount
20 | 9 |
14 7
9 | 10% 81
35 2
400 4
50 47
125 115
150
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